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An Exelon Company 
Clinton Power Station 
R. R. 3, Box 228 
Clinton, IL 61727 

U-603832 
August 31,2007 

Mr. J. L. Caldwell 
Regional Administrator, Region 111 
U. S .  Nuclear Regulatory Commission 
2443 Warrenville Road, Suite 210 
Lisle, Illinois 60532-4352 

Clinton Power Station 
Facility Operating License No. NPF-62 
NRC Docket No. 50-461 

Subject: Comments Regarding Initial License Operator Examination 
Administered on August 23, 2007 

This letter is to request that questions 12, 69, 71 and 75 be reviewed per the attached 
comments for the Clinton Power Station Reactor Operator License Examination administered 
on August 23, 2007. Enclosed are the questions and associated documentation that justifies 
this request. Required references have been provided with the original exam submittal on 
letter U-603818 dated June 22, 2007. 

If you should have any questions concerning this matter please contact Mr. M. Helton at 

Sincerely, 

(21 7) 937-4046. 

/ 

Plant Manager 
Clinton Power Station 

Attachments 

cc: NRC Clinton Licensing Project Manager (w/o Attachment) 
NRC Resident Office, V-690 (w/o Attachment) 
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Document Control Desk Licensing (w/o Attachment) 
G. J. Mosley, T-31 R, (w/o Attachment) 
A. D. Bailey, V-922 (w/o Attachment) 
G. D. Setser, V-922 (w/o Attachment) 



EXAM: I m n (  / WALK-THROUGH/SlMULATOR SCENARIO (circle one) 

Test Item (Uiiestion/JPM/Scenario, elc.): 

Concern or Problem: 

RO Question # 2 

The question as stated asks for ways the operator can check RR pump temperatures. The 
ROs routinely use Display Screen (DCS) #10 for RR PMS Points on Group Point #7. 

Recommended Resolution: Accept distractors c. or d 

A ttuched CPS No. 3512.01, DISPLAY CONTROL SYSTEM (DCSICX) AND PERFORMANCE MONITORING 
Referencds): SYSTEM (PMS/CZ) 

LP85283, DISPLAY CONTROL SYSTEM (DCSiCX) AND PERFORMANCE MONITORING SYSTEM 
1I.A and lll.A.2 

USAR 7.7.1 2 1  . I / Z  Display Control System (DCS) 

USAR 7.7.1.7.1 . I ,  Performance Monitoring System (PMS) 

USAR, Sections 7.7.1.7 8 7.7.1.21 and LP85283, Sections I1.A 8 lll.A.2 includes Display Screen #lo 
as part of DCS and does not differentiate a separation from DCS when a PMS input is selected for 
display. 

Remarks/ 
Justification: 

Additional comments: When an alarm on RR temperatures is received the first step the RO does is select PMS 
Group Point #7 on DCS Oisplay Screen #IO. This will provide the needed information 
without leaving the MCR area. 

Exam Analyzer comments: 

Final Resolution: CPS Management response: Answer c. is the only correct answer. Even though RR pump 
temperatures are available on DCS Screen #lo, the RO must change this screen to select 
Group Point #7 on PMS. 

R l  



ILT 06-1 NRC RO Exam 

Question Number 2 

The unit is operating at rated power. Component Cooling Water (CC) pump 1A is out of service for repair. 

Annunciator 5040.18, AUTO TRIP PUMP/MOTOR, actuates when CC pump 1C trips. 
A few seconds later annunciator 5003-3D. RECIRC MTR A WDG CLG WTR FLOW LO actuates. 

Three minutes later annunciator 5003-1 K, RECIRC PMP MTR A OR B TEMP HI actuates. 

How can the control room operator determine which Reactor Recirculation (RR) Pump component temperature is 
causing the alarm? 

A: 

E: 

C: 

D: 

Direct the Equipment Operator to check RR temperatures at local panel 1633-P001A(B) 

Direct the Equipment Operator to check RR temperatures at local HCU panel. 

Check Recirc pump temperatures on Control Room panel 1H13-P614 recorder. 

Check Recirc pump temperatures on DCS. 
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ANSWER KEY 
ILT 06-1 NRC RO Exam 

ILT 06-1 NRC RO Exam 

W 

Exam Question Number 2 

0 STA-Question m RO Question E1 SRO Question AorB Question No: ILT-6921 

C 
The RR pumps' motor winding, bearing, seal, and cooling water outlet temperatures are recorded on recorder 1833- 
R601 at panel 1H13-P614. These temperatures may also be monitored on PMS. 

Reference: Reference Provided: 
None 

Explanation: 

a and b are incorrect - There are no local indications for RR 
dependent upon examinee knowledge of local RR instrumentation. 
d is incorrect - RR pump temperatures can be monitored on PMS but no 
of information but do not have indication of pump temperatures. 















D A I E :  8/24/07 SIJBMI'ITED BY: @RO 

EXAM: -41 WALK-THROUGHISIMUUTOR SCENAR~O (circle one) 

- Test Item (QuestionlJPMIScenario, etc.): 

Concern or Problem: 

RO Question # 12 

Distractor a. is based on the assumption that a Rod Block occurs 3.0 cps however 
conflicting information in CPS No. 3306.01, SOURCEllNTERMEDlATE RANGE MONITORS 
(SRMIIRM). section 2.7 8 6.2, as well as, in CPS No. 3304.02, ROD CONTROL AND 
INFORMATION SYSTEM (RCBIS), TABLE 1: ROD BLOCK TROUBLESHOOTING GUIDE, 
Page 27. Actual Rod Block on low SRM count occurs when SRM count is 5 3.0 cps. 

Recommended Resolution: Accept distractors a. or b. 

Aftached 
ReferenCe(s): TROUBLESHOOTING GUIDE, Page 27 

CPS No. 3304.02, ROD CONTROL AND INFORMATION SYSTEM (RCBIS). TABLE 1: ROD BLOCK 

CPS No. 3306.01, SOURCEllNTERMEDlATE RANGE MONITORS (SRMIIRM), Step 2.7 8 6.2. 

CPS No. 5005-3K, SRM DOWNSCALE 

ITS SR 3.3.1.2.4, SOURCE RANGE MONITOR (SRM) INSTRUMENTATION 

ORM OR 2.2.2, SOURCE RANGE MONITORS -CONTROL ROD BLOCK INSTRUMENTATION 

LP65215, SOURCE RANGE MONITOR (SRM), 

Remarks/ The incorrect procedure information has not yet been updated 
Justification: 

Additional comments: CPS No. 3306.01, SOURCEIINTERMEDIATE RANGE MONITORS (SRMIIRM). discussion 
in section 2.7 is incorrect. A comment control form was previously submitted in 2006 to the 
Procedure Group to correct. Also a NTD Lesson Plan feedback TRACER was submitted 
during Systems phase. 

Depending upon which conflicting information from one source to another the candidate 
remembers. will determine his choice of distractors. 

Exam Analyzer comments: 

Final Resolution: CPS Management agrees with the candidate's challenge that there are two correct answers. 
See above comments. 

;i 

R1 



ILT 06-1 NRC RO Exam 

Question Number 12 

Which ONE of the following describes the LOWEST power level that will result in a ROD OUT BLOCK initiation from 
the Source Range Monitoring (SRM) and Intermediate Range (IRM) Systems? 

(NOTE: Choices are listed from LOWEST to HIGHEST power level.) 

A: SRM A: 5 cps, SRM B: 3 cps, SRM C: 5 cps, SRM D: 4 cps. ALL SRMs are FULLY INSERTED 
ALL IRMS on Range 1. 

B: SRM A: 120 cps, SRM B: 100 cps, SRM C: 95 cps. SRM D: 140 cps. ALL SRMs are PARTIALLY 
WITHDRAWN. ALL IRMS on Range 1. 

C: SRM A: 600 cps. SRM 8: 750 cps, SRM C: 700 cps. SRM D: 650 cps, ALL SRMs are PARTIALLY 
WITHDRAWN. 

SRM A: 1 .O x 10E5 cps. 
SRMs are PARTIALLY WITHDRAWN. ALL IRMS on Ranges 2 or 3. 

ALL IRMS on Range 1. 

D: SRM B: 1.2 x 10E5 cps, SRM C: 1.1 x 10E5 cps, SRM D: 1.2 x 10E5 cps. ALL 
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ANSWER KEY 
ILT 06-1 NRC RO Exam 

ILT 06-1 NRC RO Exam 

Exam Question Number 12 

Question No: ILT-6356 0 STA-Question RO Question I1 SRO Question AorB 

a 

SRM Setpoint for the downscale Rod Block is less than or equal to 3.0 cps. 

Reference: 

None CPS 3306.01, Re ce I Intermediate Range M 

Explanation: 

b IS incorrect - This is a ROD BLOCK due to SRM NOT FULL IN and less t 
power level listed causing a rod block. 
c is incorrect - This is not a ROD BLOCK condition. 
d is incorrect - This is an upscale ROD BLOCK because some IRMs 
Channels are tripped upscale. This is not the lowest power level liste 

Reference Provided: 

ever, it is not the lowest 

or above and all four SRM 





















, z  
Yes, the IMD procedure has the SRM setpoint at 3.0 cps and this is where the IMD Techs set it. However this 
procedure is not listed as a reference in the SRM lesson plan or any other ILT material and therefore the operators 
are NOT trained on nor do they perform this procedure in the plant or training. There is no task on the task list for the 
candidate to perform or simulate this procedure during OJTnPE. 

The concern on this question is that the proceduresltraining materials the operators receive have different values for 
this rod block that need to be resolved rather than a problem with candidate knowledge. It would appear that 
depending on the setpoint that the candidate remembers, distractor (a.) or (b.) could be correct. 

ProcedurelReference 
Section 
Statement 
Justification 

ProcedurelReference: 
Section: 
Statement: 
Justification: 

ProcedurelReference: 
Section: 
Statement: 
Justification: 

ProcedurelReference: 
Section: 
Statement: 
Justification: 

ProcedurelReference: 
Section: 
Statement: 
Justification: 

ProcedurelReference: 
Section: 

Statement: 

Justification: 

ProcedurelReference: 

Section: 

Statement: 

Justification: 

CPS No. 3304.02, ROD CONTROL ti INFORMATION SYSTEM 
Table 1: Rod Block Troubleshooting Guide 
Any SRM downscale (< 3 cps). 
This setpoint would make (b.) correct due to distractor (a,) containing exactly 3.0 cps. 

CPS No. 3306.01, SOURCEllNTERMEDlATE RANGE MONITORS (SRMIIRM) 
Step 2.7.2 
SRM Downscale at 3 cps. 
This setpoint would make (a,) correct due to distractor (a,) containing 3.0 cps. 

CPS No. 5005-3K, SRM DNSC (annunciator) 
SETPOINT 
<3 cps 
This setpoint would make (b.) correct due to distractor (a,) containing less 3.0 cps. 

Tech Specs 
SR 3.3.1.2.4 
Verify count rate is 2 3.0 cps. 
This setpoint would make (a,) correct due to distractor (a,) containing 3.0 cps. 

CPS OPERATIONAL REQUIREMENTS MANUAL (ORM) 
Table 3.2.2-l.d 
Downscale setpoint 2 3.0 cps. 
This setpoint would make (a,) correct due to distractor (a,) containing 3.0 cps. 

LP85215, Source Range Monitors 
IV.J.l .e 

SRM Downscale (3 cps) 

This setpoint would make (a.) correct due to distractor (a,) containing exactly 3.0 cps. 

LP85215. Source Range Monitors 

Attachment B 

Setpoint s3 cps 

This setpoint would make (b.) correct due to distractor (a,) containing exactly 3.0 cps. 



rjA I E: 8124107 SUBMITTED BY: 

EXAM: -4 WALK-THROUGH SIMULA TOR SCENARIO (circle one) 

Test Item (Question/JPM/Scenario, etc.): RO Question # 18 

Concern or Problem: Distractor d. is also correct based on CPS MCR layout and OP-AB-300-1001, Section 4.5 
criteria which specifically states "... in proximity to the Reactor Operator ...". This is a 
SHOULD statement, which is treated as a SHALL statement unless waived by Shift 
Management. Answer a. is based on a MAY statement which is encompassed by distractor 
d. 

Recommended Resolution: Accept distractors a. or d 

Attached 
Reference@): 

OP-AB-300-1001, BWR CONTROL ROD MOVEMENT REQUIREMENTS. Section 4.5 

~ ~ ~ ~ ~ k ~ ,  
Justification: 

60th a. and d. distractors are discussed in Section 4.5 of procedure OP-AB-300-1001. 6WR 
CONTROL ROD MOVEMENT REQUIREMENTS. 

Additional comments: 

Exam Analyzer comments: 

Final Resolution: CPS Management response: The only correct answer is a. For rods that are fully inserted or 
fully withdrawn the reactivity change is minimal therefore the CRS may adequately supervise 
control rod exercises from anywhere in the "At Controls" area. 

1 8l+l 
Date 

Approved by: 
O p e r a s  Management 

Approved by: / 
Date 

R1 



ILT 06-1 NRC RO Exam 

Question Number 18 

The plant is operating at rated power with the following: 

Weekly control rod exercising is in progress. 
The next control rod to be exercised is rod 28-21 which is currently at position 48 

Which ONE of the following identifies the REQUIREMENT regarding where the Control Room Supervisor (CRS) 
MUST be positioned in order to adequately supervise the performance of this rod movement? 

A: 

B: 

C: 

D: 

Anywhere within the "At the Controls" area. 

Immediately behind the Reactor Operator. 

Anywhere within the Main Control Room. 

In proximity to the Reactor Operator. 
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ANSWER KEY 
ILT 06-1 NRC RO Exam 

ILT 06-1 NRC RO Exam 

Exam Question Number 18 

Question No: ILT-6876 0 STA-Question RO Question L-1 SRO Question AorB 

a 

Per OP-AB-300-1001, Section 4.5: 
For rods that are fully inserted or fully withdrawn the reactivity change is minimal and the Unit Supervisor (Control Room 
Supervisor) may adequately supervise control rod exercising from any location in the "at the controls" area. The "at the 
controls" area is defined in the UFSAR Ch 13.5.1.3 and shown in Figure 13.5-1 A 
Reference: Reference Pro 

None R CONTROL ROD MOV 

Explanation: 

b is incorrect - The CRS may be at this location but it is not "required 
c is incorrect - Not allowed by procedure. May not be outside the "At 
d is incorrect - Per OP-AB-300-1001: During control rod exercisin 
should POSITION themselves in proximity to the Reactor Op 
directed. However, for a fully withdrawn (position 48) control 
location in the 'At the Controls" area. 

isor (Control Room Supervisor) 
ation from which EOP actions are 
relaxed and the CRS may be at any 







DATE: XIZ4Il17 S U B M I I I E D  BY: 

EXAM: 1-4 / WALK- THROUGH / SIMULA TOR SCENAR~O (circle one) 

Test Item (Qiiestion/JI’\.I/Scenario, etc.): 

Concern or Problem: 

RO Question # 27 

Distractor b. is plausible. There is no direct indication or cause in the question stem that 
would lead the examinee to assume the Turbine Generator tripped. Therefore, based on the 
conditions provided, the UAT would continue to power the non-safety related busses. This 
plant response would then make the RR pump (distractor b.) the most likely to be damaged 
by this transient of the choices provided. 

Recommended Resolution: AcceDt distractor a. or b. 

Attached 
Referencek): 

CPS No. 3004.01, TURBINE STARTUP AND GENERATOR SYNCHRONIZATION, Section 8.2.17 

Remark4 
Justification: 

Normal electric lineup at full power - UATs supplying 6.9 KV and 4.16KV non-safety related busses. 

Additional coinmenls: 

Exam Analyzer c~imtnents: 

Final Resolution: CPS Management response: Answer a. is the only correct answer. This scenario was 
performed on the simulator with the end result being that the Turbine tripped. With the loss 
of DC power, the Emergency Bearing Oil Pump would not be available and damage would 
result to the Main Turbine. 

Approved by: 
Date 

Approved hy. I 8 /31/07 
Date 

# 

R1 



ILT 06-1 NRC RO Exam 

Question Number 27 

The unit is operating in normal, full power lineup when a loss of off-site power occurs and the indicating lights for all 
breakers on the 6.9KV and 4.16KV 1A panels extinguish. 

Which ONE of the following components will likely be damaged? 
L 

A: Main Turbine 

B: Recirculation Pump A Motor 

C: 

D: 

Circulating Water Pump B Motor 

Motor Driven Reactor Feedwater Pump 
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ANSWER KEY 
ILT 06-1 NRC RO Exam 

ILT 06-1 NRC RO Exam 

Exam Question Number 27 

Question No: ILT-6888 STA-Question kl RO Questlon I SRO Question AorB 

a 

Main Turbine 

All breaker lights on the 6.9KV and 4.16KV 1A panels not lit would be cause by a loss of DC MCC 1 E 

The Main Turbine Emergency Bearing Oil Pump is powered from DC MCC 1 E. 

Reference: 

None 

Explanation: 

b is incorrect. RR pump motor could be damaged by a loss of CCW 

C is incorrect, CW pump B DC 

D is incorrect, the MDRFP Aux 
1 E. 

C 1E will not effect CCW. 

u 





DATE: 8/24/07 SUBMITTED BY: @RO 

EXAM: m N /  WALK-THROUGH/SlMULATOR SCENARIO (circle one) 

Test Item (Question/JPM/Scenario, etc.): RO Question # 36 

or problem: Distractor c. is plausible based on EOP-I direction. The CRS has directed (given permission) 
to the RO to "Inhibit ADS if the timer initiates". 

Based on the stem conditions, it is the CRS would to be at the "WAIT until TAF'  and the ADS 
inhibit direction would have already been issued. 

This would then allow the RO to "immediately"' inhibit ADS and notify the CRS. At this time 
the CRS would not be expected to once again give the RO direction to inhibit ADS. The CRC 
would expect the RO to take actions immediately. 

Recommended Resolution: Accept distractors b. or c. 

Attached 
Reference(s): 

OP-CL-101-111-1001, STRATEGIES FOR SUCCESSFUL TRANSIENT MITIGATION, Step 4.0.6.3 

Remarks/ 
~ ~ ~ ~ i f i ~ ~ ~ i ~ ~ :  

SRO (CRSs) are trained to give direction to the ROs to "Inhibit ADS prior to RPV level reaching - 
145.5 inches. When level reaches-145.5 inches the ROs are expected to take the action, then notify 
the CRS. 

Additional comments: 

Exam Analyzer comments: 

Final Resolution: CPS Management response: Answer b. is the only correct answer. To take EOP actions 
requires direction of the CRS. Pre-direction from the CRS was not included in the question 
stem. 

Date 
Approved by: 

Approved by: /; 8 h h 7  
Date 

R1 



ILT 06-1 NRC RO Exam 

Question Number 36 

A reactor coolant pressure boundary leak has occurred inside the Drywell. 

- All control rods are fully inserted 
- Drywell pressure is 4.6 psig and rising slowly 
- Reactor water level has just reached -145.5 inches and is dropping slowly 
- Reactor pressure is 885 psig and rising slowly 
- CRD is the only high pressure injection source available 
- All low pressure ECCS pumps have started 

What is the status of the Automatic Depressurization System (ADS) and what procedural actions are required to 
mitigate the consequences of these conditions? 

L 

A: 

6: 

C: 

D: 

ADS has automatically initiated. Verify the seven (7) ADS valves are open. 

ADS will automatically initiate in 105 seconds. inhibit ADS at the direction of the CRS 

ADS will automatically initiate in 105 seconds. Immediately inhibit ADS and notify the CRS. 

ADS will automatically initiate in 6 minutes. Reset the RPV water level low ADS seal-in logic. 
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ANSWER KEY 
ILT 06-1 NRC RO Exam 

ILT 06-1 NRC RO Exam 
v 

Exam Question Number 36 

Question No: ILT-6938 n STA-Question hd RO Question rl SRO Question AorB 

b 

ADS will automatically initiate in 105 seconds. Inhibit ADS at the direction of the CRS 

EOP-I directs inhibiting ADS until RPV water level drops to TAF the 

Reference: Reference Provide 

team (MS, IS. & ADS) 

Explanation: 

a is incorrect ~ ADS has not yet initiated. All conditions are m 

c is incorrect - The RO is not permitted to inhibit ADS unless directed 

d is incorrect - With high 
Resetting the RPV water 
d is incorrect - With high drywell pressure and 
Resetting the RPV water level low ADS seal-in logic will resta 

timer is not in the initiation logic. 
which is what we used to do in EOP-1 3P-1 





IM7'E: xi24107 SUBMITTED B Y :  @RO 

EXAM: IWRITTEI\(/ WALK-THROUGH/SIMULATOR SCENARIO (circle one) 

Test Item (Question/JP~lIScenario, etc.): A 0  Question # 46 

Concern or Problem: Distractor a. is technically correct when the stem condition "final" is applied to the expected 
operator actions for the transient. Per CPS No. 4005.01, a loss of FW heating > 100 O F  may 
occur requiring a SCRAM. CPS No. 3006.01 directs removing SJAEs; therefore "final" FW 
temp would be 87 O F .  

Recommended Resolution: Accept distractors a. or b. 

Attached 
RefwenCe(s): 

CPS No. 4005.01, LOSS OF FEEDWATER HEATlNG 
CPS No. 3006.01, UNIT SHUTDOWN, Section 8.7.2.3 

Remarks/ 
Justification: 

Additional comments: 

Exam Analyzer comments: 

Final Resolution: CPS Management response: The only correct answer is b. When ETS pressure drops 
below the turbine trip setpoint the Main Turbine trips and steam flow is shut off to all FW 
heaters. This results in "final steady state" FW temperature being approximately the 
temperature at the discharge of the Condensate-Booster pumps. Based on the provided 
figures that temperature is 90 OF. 

Approved by: 
Operati& Management 

Approved by: r ' T r a m  n ent Date 

R1 



ILT 06-1 NRC RO Exam 

Question Number 46 

The plant is operating at 25% power. The Main EHC System Emergency Trip System pressure drops to 350 psig. 

Using the attached DCS displays. 

What will be the final steady state Feedwater temperature entering the Reactor? 

- 

A: 87°F 

B: 90°F 

C: 286°F 

D: 312°F 
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ANSWER KEY 
ILT 06-1 NRC RO Exam 

ILT 06-1 NRC RO Exam 

Exam Question Number 46 

Question No ILT-6941 0 STA-Question RO Question I SRO Question AorB 

E 

Reference Provided: 

5007-18, R 27b, Turbine Trip 

Reference: 

None 

Explanation: 

B is correct, the low ETS pressure will cause a turbine trip which will heaters 

ster. Steam Jet Air Ejector A is incorrect, the turbine trip will not stop feedwater heating from the Stea 
Inter-Condenser or the Off Gas Recombiner Condenser. 

C is incorrect, all Feedwater Heaters will lose heating steam not just 

D is incorrect, the low ETS pressure will cause a turbine trip which 









DArE: 8/24/07 SUBMITTED BY: ~~ @RO 

EXAM: -41 WALK-THROUGH/SlMULATOR SCENARIO (circle one) 

Test Item (QuestionlJPMlScenario, etc.): RO Question # 51 

Concern or Problem: Distractor a. is plausible. CPS No. 3315.03, RADIATION MONITORING (ARIPR), Step 
2.2.12 directs RP to survey the area to validate a "spike" and CPS No. 5140.08, AWPR 
ANNUNCIATOR - SPENT FUEL STORAGE - 1RIX-ARO18, directs RP to survey if alarm is 
due to a "spike". 

Recommended Resolution: 

Attached 

Accept distractors a. or b. 

CPS No. 3315.03, RADIATION MONITORING (AWPR), Step 2.2.12 
Reference(s): 

CPS NO. 5140.08, AWPR ANNUNCIATOR - SPENT FUEL STORAGE - IRIX-AROlG 

Remarks/ 
Justification: 

Exam Analyzer comments: 

Final Resolution: CPS Management response: The only correct answer is b. Question asks what actions to 
take to confirm if the alarm is due to a "spike". The question is not asking what actions to 
take if it is a spike. 

, 1 $.\3\\07 
Date 

Approved by: 
Operations M 

Approved by: 

R1 



ILT 06-1 NRC RO Exam 

Question Number 51 

Irradiated fuel is being transferred from the Containment fuel storage pool to the Fuel Building spent fuel storage pool 

1RIX-ARO16 SPENT FUEL STORAGE FB 755' AH-1 17 ALERT and HIGH alarms simultaneously actuate. 

The alarm procedure directs you to determine if the alarm is due to a spike. 

How is this accornDlished? 

A: 

B: 

C: 

D: 

Direct Radiation Protection to sulvey the area. 

Access DNA History Plot for the affected instrument. 

Access the digital recorder history for the affected instrument. 

Direct the Equipment Operator to verify radiation level on local instrument 
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ANSWER KEY 
ILT 06-1 NRC RO Exam 

ILT 06-1 NRC RO Exam . 
Exam Question Number 51 

Question No: ILT-6946 0 STA-Question 

b 

Access DNA History Plot for the affected instrument. 

Reference: 

None 

Explanation: 

[JI RO Question 0 SRO Question AorB 

Reference Provided: 

CPS 5140.08, Rev. O,&PR Annunciator - Spent Fuel 

a is incorrect - RP is directed to survey the area if it is determined to be a 
c is incorrect - There is no digital recorder for this ARM. 
d is incorrect - Not an ALARA Dractice to send EO into area before RP. A 
Candidate may select one of the distracters if unfamiliar with the proce e o re iev he instrument 

~~~ +LV history plot 







DATE: Xi'4iOl SLJBMIII'ED BY: @RO 

EXAM: @mi / WALK-THROUGH 1 SIMULATOR SCENARlO (circle one) 

- Test Item (Question/JP~l/Scenario, etc.1: 

Concern or Problem: 

RO Question # 54 

The stem of the question places the examinee in the role of Reactor Operator (RO). The RO 
is required to follow the SRO orders. The correct action in this situation was to "push- 
backlchallenge" the CAS on the directed action, This was not a listed answer. Therefore 
distractor b. could be considered correct based on the Chain of Command during 
implementation of EOPs. 

Recommended Resolution: 

Attached 
Reference(s): 

Accept distractors a. or c 

OP-AA-101-111, ROLES AND RESPONSIBILITIES OF ON-SHIFT PERSONNEL, Step 4.6.2.2 

OP-CL-101-111-1001, STRATEGIES FOR SUCCESSFUL TRANSIENT MITIGATION, Section 5.C.3) 

Remarks/ ILT candidates are trained that if < -100 inches not to initiate Containment Sprays due to RHR pumps . .  ~~~ 

Justification: are needed tor adequate core cooling. The RO should challenge the SRO direction for CT Sprays at 
this RPV Level. 

Additional comments: 

Exam Analyzer comments: 

Final Resolution: CPS Management response: The only correct answer is c. EOP-6 states to start 
Containment Sprays" but the "finger" states "Do not 
plant conditions given indicate both loops are needed for core cooling. 

RHR you need for core cooling. The 

Date 

I 8/.31/@7 
* Date 

Approved hy: 

Approved hy: 

R1 



ILT 06-1 NRC RO Exam 

Question Number 54 

The plant was at near rated power when a LOCA occurred. The following plant conditions exist: 

- All Control Rods are fully inserted. 
- Reactor Pressure is 200 psig. 
- Reactor Water Level is -155 inches on Wide Range and steady. 
- The Reselve Auxiliary Transformer has Locked out. 
- The only ECCS pumps that will run are LPCl A and B which are injecting at maximum 
- Containment Temperature is 180°F and rising. 

You have been directed to initiate Containment Spray to maintain Containment integrity. What action should you 
take? 

L 

A: 

B: 

C: 

D: 

Initiate ONE loop of Containment Spray only. 

Initiate BOTH loops of Containment Spray 

Do NOT initiate either loop of Containment Sprays. 

Initiate Shutdown Service Water in the Containment Spray mode of operation. 

Page 54 



ANSWER KEY 
ILT 06-1 NRC RO Exam 

ILT 06-1 NRC RO Exam 
L 

Exam Question Number 54 

Question NO: ILT-6949 n STA-Question 0 RO Question 0 SRO Question AorB 

c 
Reference: Reference Provided: 

None EOP-6 R 27 

Explanation: 

C is correct, Both loops of LPCl are needed for Core Cooling and should not 

A is incorrect, Both loops of LPCl are needed for Core Cooling and should 

B is incorrect, Both loops of LPCl are needed for Core Cooling and s 

D is incorrect, Shutdown Service Water could be lined up to spray th 
shutdown 

ontainment Spray 

Containment Spray 

d to Containment Spray 

a LPCl loop would have to be 
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EXAM: [ M q /  WALK-THROUGH / SIMULATOR SCENARlO (circle one) 

Test  Item (Question/JPM/Scenario, etc.): 

Concern or Problem: 

RO Question # 58 

Distractor a. is plausible based on CPS No. 4410.00C012. DEFEATING ATWS 
INTERLOCKS, Section 1.2 heading which encompasses distractor d. 

Recommended Resolution: Accept distractors a. or d 

Attached 
Reference@): 

CPS 4410.00C012, DEFEATING ATWS INTERLOCKS, Section 1.2 and 4.2 

Remarks/ Distractor a. as written is true. By defeating ATWS Interlocks results in interlocks be reset that allow 
~ ~ ~ ~ i f i ~ ~ ~ i ~ ~ :  subsequent scrams and insertion of control rods. Question stem does not ask for why the RPS 

Interlocks are defeated but for the ATWS Interlocks. 

Additional comments: 

Exam Analyzer comments: 

Final Resolution: CPS Management response: The only correct answer is d. After Defeating RPS Logic 
Trips the Div 1 through 4 RPS automatic scram signals are bypassed but not the actions to 
insert control rods. Question asks purpose for defeating all ATWS interlocks does. 

Approved by: i sk3qm 

Approved by: / 8/31 Is 7 
Date 

Date 

R1 



ILT 06-1 NRC RO Exam 

Question Number 58 

Following entry into EOP-lA, ATWS RPV Control, CPS 441 1 .OB, Alternate Control Rod Insertion, directs defeating 
ATWS interlocks as required. 

What is accomplished by defeating ATWS interlocks? 

A: 

6: 

C: 

D: 

It bypasses RPS logic trips to drain the scram discharge volume and insert control rods. 

It bypasses the scram signal to allow all rods to be fully inserted using normal insertion with CRD 

It vents the over piston area and enables control rod insertion using individual control rod scram switches 

Allows the scram to be reset, the scram discharge volume drained, and the CRD accumulators recharged for 
subsequent manual scram attempts. 
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ILT 06-1 NRC RO Exam 

Exam Question Number 58 

Question No: ILT-6953 0 STA-Question @ RO Question 0 SRO Question AorB 

d 

Allows the scram to be reset, the scram discharge volume drained, and the CRD accumulators recharged for 
subsequent manual scram attempts. 

Defeating ATWS Interlocks. 

Reference: 

None 

a is incorrect - draining the scram discharge volume does not allow ro 

Explanation: 

b is incorrect - the rod insert block needs to he bypassed to 

Accomplished by defeating RPS Logic Trips, which is one of the ATWS CPS 4410.00C012. 

Control Rod Insertion 

rod insertion using CRD. 

c is incorrect - Does not vent 







DATE: 8/24/07 SUBMIlTED BY. - -__ @RO 

EXAM: WALK-THROUGH/SlMULATOR SCENARIO (circle one) 

Test Item (Questlon/JPM/ScenarIo, etc.): 

concern or problem: 

RO Question # 66 

Distractor a. also technically correct based on CPS No. 3112.01, CONDENSER VACUUM 
(CA), Limitation 6.1 which directs opening Vacuum Breaker until turbine speed is c 1200 rpm. 
The determination of the extent of the vibration emergency is subjective and would allow both 

The additional information added to distractors a. and c. for less than c 1200 rpm or C 24" 
vacuum is not applicable for a tripped turbine. Limitation 6.1 of 31 12.01 discusses opening 
the vacuum breaker for emergency conditions of high vibes; however, there is no procedure 
limitation or section that limits once you open the vacuum breaker what you are attempting to 
accomplish, other than the operating philosophy of stopping the turbine from rotating. 

~ 

, ,' ; rl ,!ii> a. and c. to be correct. 
A 

, , , I /t.' .I' , I !  ; '  

'!' i,! :. J$' ! 

, '  , *  
., >, 1 

4 /(. i 
\ , .  

Cps No, 3105.01, TURBINE (TG. EHC. TS), Limitation 6.3 al low lowering vacuum to 23" if a 
more rapid reduction in turbine speed is desired for an EMERGENCY CONDITION. High 

', {Turbine vibration is listed as an EMERGENCY CONDITION. 

Accept distractors a. or c. 

Attache&/ 
Reference@): 

Remarks/ 
Justification: 

CPS No. 3112.01, CONDENSER VACUUM (CA), Limitation 6.1 

CPS No. 3105.01, TURBINE (TG, EHC, TS) 

The turbinelgenerator complex is the second most expensive piece of equipment at CPS and turbine 
blade failure due to high vibrations is a personal safety concern and an analyzed event. Operators are 
trained to take conservative actiin to protect equipment and ensure personal safety. 

Additional comments: 

Exam Analyzer comments: 

Final Resolution: CPS Management response: The only correct answer is c. The Main Turbine does trip on 
High Vibrations. If the high vibratio-n trip was disabled the "TROUBLE TSI CAB" alarm would 
be lit. The vibration trip may be bypassed for plant evolutions but vacuum should still not be 
lowered to less than 24" Hg until Main Turbine speed is less than 1200 RPM. 

* 
Approved by: i %\3\ 07 

@&ions Management Date 

Approved by: / 
Date 

R1 



ILT 06-1 NRC RO Exam 

Question Number 66 

The plant is performing a down power to shift Rod patterns. 

- Annunciator 5007-4D. High Vibr Turb Shaft (Pre Trip), alarms. 
- NO other annunciators are LIT on this panel. 
- Bearing # 9 indicates 9 mils vibration and increasing. 

(1) If NO operator action is taken, what will be the impact on the Main Turbine? 

(2) What operator actions should be taken at this time? 

~~~. 

A: (1) The Main Turbine will trip. 
(2) Scram the reactor, trip the Main Turbine and fully open the vacuum breaker until Turbine speed is less than 
1200 RPM. 

(1) The Main Turbine will NOT trip. 
(2) Scram the reactor, trip the Main Turbine and fully open the vacuum breaker until Turbine speed is less than 
1200 RPM. 

(1) The Main Turbine will trip. 
(2) Scram the reactor, trip the Main Turbine and reduce vacuum to no lower than 24" Hg. 

(1) The Main Turbine will NOT trip. 
(2) Scram the reactor, trip the Main Turbine and reduce vacuum to no lower than 24" Hg 

6: 

C: 

D: 
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Exam Question Number 66 

Question No: ILT-6964 n STA-Question @I RO Question n SRO Question AorB 

C 

Reference: 

None 

Reference Provided: 

CPS 3105.01 Turbine R 34b 

Explanation: 
C is correct, the turbine will trip on high vibrations. If the high vibration trip 
annunciator would be alarming. The vibration trip may be bypassed for pla 
lowered to less than 24" Hg until turbine speed is less than 1200 RPM. 

A is incorrect, vacuum should not be lowered to less than 24" Hg until 

B is incorrect, the turbine will trip on high vibrations. If the high vibra 
annunciator would be alarming, Vacuum should not be lowered to le 
1200 RPM. 

0 is incorrect, the turbine will tri 
annunciator would be alarming, 

"Trouble TSI C a b  
uum should not be 

ss than 1200 RPM. 

led the "Trouble TSI Cab  
ntil turbine speed is less than 

"Trouble TSI C a b  









DATE: 8/24/07 SUBMITTED BY: @RO 

EXAM: m N /  WALK-THROUGH /SIMULATOR SCENARIO (circle one) 

Test Item (QuestionlJPMIScenario, etc.): 

concern or problem: 

RO Question # 67 

Distractor b. is also technically correct based on CPS No. 3104.01, CONDENSATE1 
CONDENSATE BOOSTER (CD/CB), Discussion 2.6.1 which acknowledges that dP will not 
drop very much, implying that the evolution is virtually seamless and plant transient is 
minimal. 

Recommended Resolution: Accept distractors b. or c 

Attached CPS No. 3104.01, CONDENSATE/ CONDENSATE BOOSTER (CD/CB), Discussion 2.6.1 8 Section 
Reference@): 8.2.4.1 

Remarks/ 
Justification: response. 

In Section 8.2.4.1, does not state that CD flow and CB pressure lower because of slow valve 

Additional comments: Dependent upon what the candidate remembers about this evolution would determine how 
he would answer this Question. 

Exam Analyzer comments: 

Final Resolution: CPS Management response: The only correct answer is c. Based on plant experience CPS 
No. 3104.01, CONDENSATElCONDENSATE BOOSTER (CD/CB) discusses the fact that the 
valve breaker is cycled to allow the system stabilize based on CD066A response time. 

Approved by: 
Date 

Approved by: 1 8 /31 /@ 7 
Date 

R1 



I11 06-1 NRC RO Exam 

Question Number 67 

The unit is operating at near rated conditions. 

Select the statement that describes the effect on the Condensate (CD) system of turning the SJAE CDSR 1N1B 
selector switch clockwise one position from the “BOTH position and the reason for that effect. 

A CD flow and pressure reduction causes low Feedwater pump suction pressure due to SJAE CondensedOG 
Recombiner inlet isolation valve 1CD0068 closure. 

CD flow and pressure remain stable as SJAE Condenser/OG Condenser inlet isolation valve 1CD006A closes 
and the SJAE Condenser/OG Recombiner bypass valve 1CD066A opens. 

SJAE Condenser/OG Recombiner inlet isolation valve 1CD006A closes, which lowers CD flow and CB pressure 
because response of the bypass valve 1 CD066A is too slow to adequately compensate. 

CD flow and pressure are reduced as SJAE Condenser/OG Recombiner inlet isolation valve 1CD006B closes 
then returns to previous values as the SJAE CondensedOG Recombiner bypass valve 1CD066B opens. 

8: 

C: 

D: 
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Exam Question Number 67 

Question No: ILT-6965 STA-Question bC RO Question 0 SRO Question AorB 

C 

SJAE Condenser/OG Recombiner inlet isolation valve 1CD006A closes, which lowers CD flow and CB pressure 
because response of the bypass valve 1CD066A is too slow to adequately compensate. 

Reference: Reference Provided: 
None 

Explanation: 

the isolation valve closes the bypass valve opens but not 
stable. When this evolution is performed, the isolation 

to remain 

allowing the system to stabilize in between valve operations. 

The Switch positions 

is in service and train 1A isolates. 

+ 
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EXAM: -41 WALK-THROUGHIS~MULATOR SCENARIO (circle one) 

Tesl llem (QuestionlJPMIScenario, etc.): RO Question # 69 

Concern or problem: Lowering pressure to sDifl FW level control to CDlCB per distractor a. would be an 
operationally sound action and should be considered as a correct choice. 

Recommended Resolution: 

Attached 
Reference(s): 

Accept distractors a. or d. 

CPS NO. 3103.01, FEEDWATER (FW), Section 8.2.2.17 

CPS No. 3006.01, UNIT SHUTDOWN, Sections 8.8.2. 8.8.3 8 8.8.6 

CPS No. 441 1.09, RPV PRESSURE CONTROL SOURCES, Sections 2.1.6 8 2.1.7 

Remarks/ 
.lusti~eation: 

Implicit in aligning CDlCB for feedwater injection is to ensure that Reactor pressure is within the 
capacity of the Condensate Booster pumps. Guidance in CPS No. 441 1.09 is provided to lower 
pressure to < 72W to make CDlCB injection available. The question stem states that Reactor water 
level was trending upward, which demonstrates adequate inventory is available to support 
depressurization. Additionally, the TDRFP is already at its minimum setting on its controller, so 
sufficient makeup capacity exists. Thus, the strategy to lower pressure and align CD/CB for 
injection is a viable option. The action to lower pressure also depletes inventory and would 
compensate for rising level. 
There is no information in the stem that would indicate that lowering pressure within the capability of 
the Condensate Booster pumps would exceed the required cooldown rate (<IO0 'Fihr). 

Additional comments: 

Exam Analyzer comments: 

Final Resolution: CPS Management agrees with the candidate's challenge that there are two correct answers. 
See above comments. 

Approved by: 

Approved by: 
Date 

R1 



ILT 06-1 NRC RO Exam 

Question Number 69 

A plant cool down is in progress with Reactor pressure at 750 psig. 

- The MDRFP is unavailable and Reactor water level is being controlled with the A TDRFP 

- The A TDRFP is being controlled with M A  Station in manual. 

- The A TDRFP is at 2370 rpm and Reactor water level is slowly increasing. 

What action must be taken to maintain Reactor water level in the normal operating band? 

b 

A: 

E: 

C: 

D: 

Shift Feedwater level control to the Condensate Booster Pumps. 

Depress the DECREASE push bunon on the A TDRFP MIA Station. 

Shin the TDRFP to the Startup Level Controller and DECREASE push button. 

Shift the A TDRFP to the Manual Potentiometer and turn the potentiometer counter clockwise 
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Exam Question Number 69 

Question No: ILT-6967 [7 STA-Question @ RO Question u SRO Question AorB 

D 

Reference: 

None 

Reference Provided: 

CPS 3103.01 Feed water R 24b 

Explanation: 

D is correct, Feed Pump speed needs to be reduced to stop the water level 
speed stop on the M/A station and must be transferred to the Manual Potenti 

A is incorrect, the 750 psig is above the shutoff head of the Condensate 

B is incorrect, The Feed Pump is at the low speed stop on the M/A st 
controller. 

C is incorrect, the Startup Level Controller cannot lower the F 

eed Pump is at the low 
r reduce speed. 

reduced any further with this 
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EXAM: -41 WALK-THROUGH/SlMULATOR SCENARIO (circle one) 

Test Ilem (QuestioniJPMiScenario, etc.): RO Question # 71 

concern or problem: Distractor a. is also plausible. The referenced OE from Hope Creek (OE6144) describes a 
resin intrusion event that caused Reactor power to decrease as Main Steamline Rads were 
elevated. 

Additional references from other BWR-6 plants were reviewed that discussed that a decrease 
in surface tension resulted in a slow positive reactivity event followed several hours later by a 
negative reactivity event due to voiding caused by organic impurities. 

The question stem did not provide a specific timeline or include the amount of resin that 
entered the Reactor vessel therefore both a. and b. are correct. 

Recommended Resolution: Accept distractor a. or b 

Attached CPS No. 3303.01, REACTOR WATER CLEANUP, Section 8.1.3 
Reference($): 

CPS NO. 5000-2A, F-D INFL CNDCT HI-LO 

CPS NO. 5000-26, F-D EFL CNDCT HI-LO 

CPS NO. 5002-2C, F-D SYSTEM TROUBLE 

CPS No. 5246-18, STRAlNER"K DlFF PRESS HI 
CPS No. 5246-1C, VESSEL "A" DlFF PRESS HI 

CONDENSATElREACTOR WATER HIGH CONDUCTIVITY 
Brown's Ferry Event, Dated August 9. 2006. 
OE6826 - Resin Intrusion Causes Reduction in Reactor Power - Duane Arnold 

05-1-02-V-02, GRAND GULF NUCLEAR STATION OFF-NORMAL EVENT PROCEDURE - 

Remarks/ 
Justifiealion: 

Industry experience has shown that resin intrusion events can result in power excursions in both a 
positive and negative fashion. As such the distractors a. and b. are both correct as power can rise or 
lower based on factors that were not specifically delineated or defined in the question stem. 

Distractors c. and d. remain incorrect as MSL radiation level in resin intrusion events rises 

Additional comments: 

Exam Analyzer comments: 

Final Resolution: 

J 

CPS Management agrees with the candidate's challenge. See above comments. 

Approved by: I 1/31 lo7 

Approved by: / 8 131b 7 
Date 

Date 

R1 



ILT 06-1 NRC RO Exam 

Question Number 71 

The plant is operating at near rated conditions when the following annunciators alarm: 

5000-2A F-D INFL CNDCT HI-LO 
5000-28 F-D EFL CNDCT HI-LO 
5000-2C F-D System Trouble 

The following RWCU parameters indicate: 

- RWCU Filter Demin A flow indicates 0 gprn. 
- RWCU Filter Demin B flow indicates 250 gprn 
- RWCU Filter Demin B effluent conductivity indicates 1 .O pdcm 

Which one of the following would occur as a result of this event? 

A. 

B: 

C: 

D: 

Reactor power increases and Main Steam Line radiation increases, 

Reactor power decreases and Main Steam Line radiation increases. 

Reactor power decreases and Main Steam Line radiation decreases. 

Reactor Dower remains stable and Main Steam Line radiation remains stable 
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Exam Question Number 71 

Question No: ILT-6969 STA-Question RO Question n SRO Question AorB 

Reference: Reference Provided: 

None OE6144 - Resin Intrusion 

B is correct, the high FID flow and conductivity annunciators are indicative of a 

Explanation: 

cause power to decrease 

A is incorrect, power will decrease. The 
would then cause steam line radiation to increase. 

C is incorrect, Steam Line Radiation 
decrease which normally would 

D is incorrect, power will 

A resin intrusion will 

to increase which 

v 

















L 

EVENT DATE: August 9,2006 
UNIT NAME: 
NSSSIA-E: General ElectriclTennessee Valley Authority 
TURBINE MANUFACTURER General Electric 

MAINTENANCE RULE APPLICABILITY: None 

DESCRIPTION: 
Unit 3 was operating in the first 6 months of cycle 13. The reactor power was very stable due to the flat 
reactivity trend at the time in cycle. 3C Condensate Demineralizer was removed from service due to high 
vessel differential pressure for normal backwash and precoat cycle. On completion. the vessel was returned 
to service per normal operating instructions. 

Approximately 5 minutes after the demineralizer was returned to service the control room staff observed 
the reactor power calculated by the nuclear heat balance to be above 100% (3458 MWt). The highest 
observed power level was 3466 MWt (100.2%). Operations reduced power by lowering recirculation pump 
speeds lo return power below 100%. Operations contacted reactor engineering and instrument and controls 
engineering to determine if the indicated power increase was real and, if so, identify the cause of the power 
excursion. 

The power excursion was determined to be real. Gross electric power and Average Power Range Monitors 
indicated the increase. The first stage turbine pressure and final feedwater temperature confirmed the 
increase in power. The control rod positions were confirmed to be constant. The recirculation pump 
speeds were determined to be constant until the time Operations took control to reduce power by lowering 
pump speeds. The final feedwater temperature was observed to increase in accordance with the observed 
increase in power. In addition. it was verified that a feedwater temperature drop did not cause the increase 
in reactor power. 

At the same time as the power excursion was observed, an increase on the offgas pretreatment monitor was 
observed which slowly returned to normal. Approximately 6-10 hours later the offgas pretreatment 
radiation and the recirculation pumps speeds returned to the values observed prior to returning 3C 
condensate demineralizer to service. 

CAUSES: 
The cause of the power excursion observed on unit 3 was determined to be due to the resin intrusion when 
3C condensate demineral 

did-not occur every time there was a resin intrusion, hut did occur several times. The exact mechanism 

Browns Ferry Unit 3 

"\ 
both _-.-- u n i t s ? ~ & L w h n a s  

/ '. which caused the power increase could not be identified. ~./--' 
~ .~~ ~ 

CORRECTIVE ACTIONS: 
Operations personnel were trained on this event, to recognize the possibility of a small power increase 
when condensate demineralizers are returned to service 



Date:08- 19-1 994 
Subject:OE6826 - Resin Intrusion Causes Reduction in Reactor Power 

Unit Name. . . . . . . . . . .  DUANE ARNOLD 
Year Commercial. . . . . . . .  1974 
Reactor Type (Size). . . . . .  BWW4 (1658 MWTH) 
Reactor Manufacturer. . . . .  GE 
Turbine Manufacturer. . . . .  GE 
Plant Designer . . . . . . . .  BECHTEL 
Event Date. . . . . . . . . .  August 13, 1994 

On August 13, 1994 the operating crew returned the 'B' condensate 
demineralizer to service following septa cleaning. Shortly aAenvards 
the 'Recirc Dissolved Oxygen' annunicator on the hydrogen water 
chemistry panel alarmed and reactor water cleanup influent Conductivity 
started to rise. This is not unusual when returning a demineralizer to 
service. Minutes later the operators noticed that reactor power was 
decreasing with no apparent cause. Over the next 23 minutes reactor 
power and load line continued to decrease (15 MWth total) even though 
recirculation flow was constant and the control rods were at the 
desired pattern. An increase in core plate differential pressure from 
21.1 psid to 21.7 psid was noted. 

At the same time, reactor conductivity continued to increase from 0.058 
micromhoskm to a peak of 1.62 micronihosicm. Chemistry samples of 
reactor coolant indicated sulfate concentrations had increased to 
200.5 pph from less than 0.3 pph. Main steam line radiation levels 
did not increase significantly during this event. 

Cause of the Event 

Like an event which occured at Hope Creek (OE 6144), a resin instrusion 
occurred when the 'B' condensate demineralizer was placed back on line. 
The breakdown of the resin in the reactor decreased the surface tension 
of the water which caused an increase in void formation. The increase 
in the void fraction resulted in the reduction in power. The 
change in the void fraction also resulted in a change in the axial power 
distribution. Main steam line radiation levels did not increase because 
the resin intrusion was small. Past resin intrusions at the DAEC 
have historically not resulted in increased main steam line rad levels. 
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EXAM: [ m 4 /  WALK-THROUGH/SlMULATOR SCENARIO (circle one) 

Test Item (Queslion/JP.W/Scenario, etc.): RO Question # 75 

concern or problem: Depending upon the time-frame being considered, distractor b. and c. are both plausible 
answers. 

Recommended Resolution: 

Attached 
Referencefs): 

Accept distractors b. or c 

CPS No. 3309.01, HIGH PRESSURE CORE SPRAY (HP), Section 8.1.2 

LP85380, High Pressure Core Spray, Sedion X.A, LER 88-022, Inadvertent HPCS Initiation 

Remarks/ 
~ ~ ~ ~ i f i ~ ~ ~ ~ ~ ~ :  

The referenced OPEX states that parameters recover to their original values, Reactor pressure to 
1002 and Reactor power to 100%. Because the question stern provides NO time frame (i.e. 10 
seconds 30, seconds, 10 minutes, etc.). the candidate could consider the time to be from steady-state 
to steady-state conditions which would make distractor b. correct also. 

Exam Analyzer comments: 

Final Resolution: CPS Management agrees with the candidate's challenge. See above comments. 

i 

R1 



ILT 06-1 NRC RO Exam 

Question Number 75 

The plant is operating at near rated power. HPCS is running "tank to tank" mode per CPS 9051.01, HPCS Pump and 
HPCS Water Leg Pump Operability. 

A spurious HPCS initiation signal is received. 

NO other systems are affected. 

What effect if any does this have on Reactor Pressure and Reactor Power? 

1 

A 

B: 

C: 

D: 

Reactor Pressure increases, Reactor Power increases. 

Reactor Pressure decreases, Reactor Power increases. 

Reactor Pressure decreases, Reactor Power decreases. 

Reactor Pressure and Reactor Power remain the same. 

._ 
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Exam Question Number 75 

Question No: ILT-6958 0 STA-Question RO Question SRO Question AorB 

C 

Reference: 

None 

Reference Provided: 

CPS 3309.01 HPCS R15C 

Explanation: 

C is correct, the initiation signal will cause HPCS to shift from "tank to tank" to t  

reactor power to decrease due to the increase in voids in the core. 

addition of cold water the student may pick this answer. 

HPCS initiation at power causes reactor pressure to decrease from 

A in incorrect, pressure and power will decrease. If the student thinks t 

6 is incorrect, pressure and power will decrease. 

injection is the 

If the student 
than the void increase the student may pick this answer. 

D is incorrect, pressure and power will 
the injection mode, the student may pick this answer. 

-~ 
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EXAM: R T F q /  WALK-THROUGH /SIMULATOR SCENARIO (circle one) 

Test Item (Question/JPM/Scenario, etc.): 

concern or problem: 

SRO Question # 03 

Distractor a. is also a possible correct answer based on OP-AA-108-115, OPERABILITY 
DETERMINATIONS, Step 1.4 that cites the Corrective Action program for tracking actions 

LS-AA-125, CORRECTIVE ACTION PROGRAM (CAP) PROCEDURE, Attachment 6, 
provides examples of required corrective actions that result in tracking. One of the examples 
is Technical Specification Equipment. 

Recommended Resolution: 

Attached 

Accept distractors a. or b 

OP-AA-108-115, OPERABILITY DETERMINATIONS, Step 1.4 

LS-AA-125, CORRECTIVE ACTION PROGRAM (CAP) PROCEDURE, Attachment 6 
Reference@): 

Remarks/ 
Jusiificaiion: 

Additional comments: 

Exam Analyzer comments: 

Final Resolution: CPS Management response: The only correct answer is b. The equipment should be 
declared inoperable immediately. Actual LCO tracking is controlled by OP-AA-108-104, 
OPERABILITY DETERMINATIONS for Technical Specification Compliance. 

Approved by: i 8h107 
Date 

Approved by: 

? 

R1 



ILT 06-1 NRC SRO Exam 

Question Number 3 

A reasonable expectation of operability does NOT exist a for piece of equipment and the onshift SRO determines that 
an OPERABILITY determination evaluation is required in accordance with OP-AA-108-115, Operability 
Determinations. 

Which ONE of the following procedures is PRIMARILY used to track the status of the equipment? 

i 

A: 

6: OP-AA-108-104 Technical Specification Compliance 

C: 

D: 

LS-AA-125 Corrective Action Program Procedure 

OP-AA-108-105 Equipment Deficiency Identification and Documentation 

OP-AA-108-111 Adverse Condition Monitoring and Contingency Planning 

'- 
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ILT 06.1 NRC SRO Exam 
.- 

Exam Question Number 3 

Question No: ILT-6917 u STA_Question 0 RO Question SRO Question Aor0 

B 

Reference: 

None 

Reference Provided: 

OP-AA-108-104 Technical Specification Compliance R 

Explanation: 

B is correct, the equipment should be immediately declared inoperable and act 
OP-AA-108-104 Technical specification Compliance. 

A is incorrect, LS-AA-125 Corrective Action Program Procedure is used 
prevent recurrence but not the LCO. 

C is incorrect, OP-AA-108-105 Equipment Deficiency Identification a 
108-104 Technical Specification Compliance. 

D is incorrect, OP-AA-108-I11 
entry into an LCO 

of an LCO is controlled by 

ctions and actions to 

n directs the usage of OP-AA- 

sed to help prevent the 

- 



I SRO OllESTlON #R. ATTACHMRNT # l  I 
I I 

OP-AA-108-115 
Revivon 1 

Page 1 of 44 Exe Ion IM 

1. 

1.1 

1.2 

1.3 

1.4 

Nuclear 

OPERABILITY DETERMINATIONS 

The operability determination process is used to assess operability of systems, 
structures, or components (SSCs) and support functions for compliance with 
Technical Specifications (TSs) when a degraded or nonconforming condition is 
identified for a specific SSC described in TSs, or when a degraded or nonconforming 
condition is identified for a necessary and related support function. 

The process of ensuring operability is ongoing and continuous. The focus of 
operability is foremost on the capability to ensure safety. Operability is verified by 
day-to-day operation, plant tours, observations from the control room, surveillances, 
test programs, and other similar activities. Deficiencies in the design basis or safety 
analysis or problems identified by operability verification lead to the operability 
determination process by which the specific deficiency and overall capability of the 
SSC are examined. 

Without any information to the contrary, once an SSC is established as operable, it 
is reasonable to assume that the SSC should continue to remain operable, and the 
previously stated verifications should provide that assurance. However, whenever 
the ability of an SSC to perform its specified safety function is called into question, 
operability must be determined from a detailed examination of the deficiency. 

The operability determination process described in this procedure is used to assess 
operability of SSCs described in TSs. The scope of SSCs considered within the 
operability determination process is as follows: 
- SSCs required to be operable by TSs. These SSCs may perform required 

support functions for other SSCs required to be operable by TSs (e.g., 
emergency diesel generators and service water); and 
SSCs that are not explicitly required to be operable by TSs, but that perform 
required support functions (as specified by the TSs definition of operability) 
for SSCs that are required to be operable by TSs. 

- 

Degraded and nonconforming conditions involving SSCs not meeting the criteria 
specified in Section 1.3 above are assessed for functionality under the corrective 
action program. These SSCs may perform specified functions described in the 
Updated Final Safety Analysis Report (UFSAR), Technical Requirements Manual, 
Operational Requirements Manual, Emergency Plan, Fire Protection Plan, regulatory 
commitments, or other elements of the current licensing basis (CLB). 







IMTt,: 8/7-1107 SUBMITTED BY: 

EXAM: m N  / WALK-THROUGH / SIMULATOR SCENARIO (circle one) 

Test k i n  (QuestionlJP~IIScenario, etc.): 

concern or prohleIn: 

SRO Question # 07 

Answer a. is also a possible correct answer. Per CPS No. 4008.02. CORE SHROUD 
CRACKING, Section 4.1, the Reactor Engineer is to be notified. 

This is event is also reportable per LS-AA-1110, REPORTABLE EVENT, SAF 1.4. NRC 
would be notified as well. Question does not limit the student to choices of only using CPS 
No. 4008.02, CORE SHROUD CRACKING. 

Reconimended Resolution: Accept distractors a. or b 

Attached CPS No. 4008.02, CORE SHROUD CRACKING, Section 4.1 
ReferenceW: LS-AA-11 IO, REPORTABLE EVENT I .4 

Remarks/ 
Justification: 

Additional comments: 

Exam Analyzer comments: 

Final Resolution: CPS Management response: The only correct answer is b. Indicated symptoms are 
indicative of a Core Shroud Cracking event. In accordance with CPS No. 4008.02, CORE 
SHROUD CRACKING, NSED and the RE are to be notified. Directions to perform 
Subsequent Actions of an Off-Normal are given by the CRS. 

I /?-A I 

*$ /h 
Approved by: 97 0 1 7 ,  I 
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ILT 06-1 NRC SRO Exam 

Question Number 7 

The plant is operating at near rated power. The A RO reports parameters that have a potential for core shroud 
cracking and that NSED should be notified. 

Who else must be notified? 

A: NRC 

6: Reactor Engineering 

C: 

D: 

Reactor Engineering and Radiation Protection 

Reactor Engineering, Radiation Protection and Chemistry 

Page 7 



ANSWER KEY 
ILT 06-1 NRC SRO Exam 

ILT 06-1 NRC S A 0  Exam 

Exam Question Number 7 

Question No: ILT-6899 rl STA-Question 0 RO Question &? SRO Question AorB 

E 

Reference: 

None 
Reference Provided: 

CPS 4008.02 Core Shroud Cracking, R 2a 

Explanation: 

Cracking procedure requires notification of NSED and Reactor Engineering. 

A is incorrect, Reactor Engineering must also be notified. 

B is correct, The stated changes in plant conditions are symptoms of Core Shro The Core Shroud 

C is incorrect, Radiation Protection may be notified but is not 

D is incorrect, Chemistry and Radiation Protection may be 

The performance of subsequent actions are to 
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